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The|—SeIect— v| ‘/ Fundamental Theorem| of . Algebra| states thatif flx) is a = x—0 o5

polynomial of degree n, where n = 0, then f has at least one zero in the complex number system.
q Facton.

FTA + Fucton Thasem, == Unrar £ cdoizoihion Tim .

Fill in the blanks.
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Fill in the blank.

v| |/.) Linear Factorization Theorem| states that if f{x) is a polynomial of

The | —Select—
- (x — cq), where

degree n, where n = 0, then flx) has precisely n linear factors, fix) =a.(x —c1)(x —cz) -+

C1, C2, « » o Cn are complex numbers.,
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Comment: not randomized

Fill in the blank.
Two complex solutions of the form 2 £ bi of a polynomial equation with real coefficients are called

—Select— ~ conjugates| .
A
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Comment: not randomized

Fill in the blank.
The expression inside the radical of the Quadratic Formula, b2 — 4ac, is called the

and is used to determine types of solutions of 3 quadratic equation.
T
H-Yac
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Determine the number of solutions of the equation in the complex number system.

xT+3x2+ 12 =0

1
LarTrig9 4.2.010. (2456747) (Add) - view ™

Use the discriminant to determine the number of real solutions of the quadratic equation.

kT —x—-4=0 _ _
=3, 4=~ e=-Y

@ 2 Yedace = (——1}2-—‘-}(3)(-‘4-\?— oS .

LarTrig9 4.2.012. (2456052) (Add) - view
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Use the discriminant to determine the number of real sclutions of the quadratic equation.
{
1.2 _ - A= T 6:—3 d=2¢
X x+2a=0 > ‘ 8 Se 2 /lqavuuaﬂ
rvaes (- (M)
? g‘:)—e.,\#/‘a‘-) S~

19
=932 =23 <O

LarTrig9 4.2.018. (2524429) (Add) - view "
Comment: slightly modified
Solve the guadratic equation. (Enter your answers as a comma-separated list.)

5x*—1=0 S = |
i_i 2 L
x= Yl s S 0\
,+\F/_+“/‘__,i\ﬂf_/_—vi,j,_ 5
. I R G
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Comment: slightly modified
Solve the quadratic equation. (Enter your answers as a comma-separated list.)
(x+4)2-3=0 (X+\_()7’ =2,
&= V3 —4.—4 -3 X+Yy = F \fg
x=-4%1\3
LarTrig® 4.2.022. (2524364) (Add) — view "
Comment: slightly modified
Solve the quadratic equation. (Enter your answers as a comma-separated list.) |
- 2 — X=-3
9xZ+6x+1=0 @x)lv‘l‘@sdl 1T - (AxeNT =0 = 3
X = —i | /ua_,o =210 (/wpz«‘[fd\
3
(AxeN =0
?X“"/ =FxO = O
LarTrig9 4.2.024. (2524452) (Add) — view "
Comment- slightly modified
Solve the quadratic equation. (Enter your answers as a comma-separated list.) -5 (468
81+ 12x —x2 =0 —_— YX=l2x-%( =0 4 )3y
| b=-1n —2r=¢ 2 (1
- — — o=
X = 6+ 3v13.6 — 313 ! ’ =
b Yae = (nf - (=30 E
)
X= SEViR e ar e 3
- - T = 44+ 3y = 4B
L W
2-Q
= 2.3V03
Y8
)(ﬂz_ iy -l =
X'?__ 1234 4 éz’ %‘%(
2
= (%——Q) _ 3 = O
(x,é)/L =173
—+3¢=
4 V(- =E 3V
w-6=< 7 3z
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Solve the polynomial equation. (Enter your answers as a comma-separated list.)

C\)»m c{/m ’L/\< - Cf\”"\

¥t -2 -3=0

x= —v/3, V3,4, —i (-2u-3 = (a-3)la 0
= (EOHN) =0 =7
«lti=0 oM x'Fl =0
%*=3 W=
-t =EC
arTrig? 4.2.032. (2456489) (Add) -- view ™ .
ﬁ&m«‘? by cnosping
Consider the following.
o
flx) =x° — 2x% — Ox + 18 X (><~’)—\“7(><—2.)
= eDER) = (=) (x3)(x+3) =0

{a) Use a graphing utility to graph the function. =

(b) Find all the zeros of the function.
| J,—3.2

x =

=7 x C’f—’%,?,ii

(c) Describe the relationship between the number of real zeros and the number of x-intercepts of the graph.

3 of cach

7
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Write the polynomial as a product of linear factors.

fx) =32 =x+42 = (-3)(xaq, )

fix) =

1 — 1 e
(.;-+ ~(-1- w'm?]) (.:-+ (14 w&m))

'y
|\_)'" l?o
Xl*X =~-42
Xix b = -%14—%,

/\:( -L?)‘,’/ 1+
- ~ = T
gf

Find all the zeros of the function. (Enter your answers as a comma-separated list.) jC( )
)=

=

% (1 - N"ﬁ) , % (1 + iv"ﬁ)

2= bl =4
yae = (Y4 G2
= )/!(‘,8 = —}(,7-
_hE\(oovee =V =N
Y= i_,gj P ’,f——-
~a = 2

LarTrig9 4.2.047. (2532482) (Add) - view "

("“a)"l -
Z

Wz LT
(%-3) +g
,_4_\(_%_1' _ +_@;—L
X7 77 o - T 4
\-)-\ﬁ—i
X’__/,

_\f
foo=(x = (= h)X (= >

Var -—W

G =3\

Write the polynomial as a product of linear factors.

flx) = 2x% — x2 + 54x — 27

= (2w paF+(iw-0= Cw-0( X L2

flx) =

(.r - :;gvﬁ) (.;- + :55\;'3] (22 — 1)

Find all the zeros of the function. (Enter your answers as a comma-separated list.)

1 — — ,
x = = 3iV3, -3iV3 Adtonmate ey
6/\(‘0[\“ ez %= 5_: s 700C) AQ’LI
O),‘u-‘é/
by »c/'; T, %_j 1 -\ () -7
ab I o 21F
s e 27
’1 o sf O
X c "
s s«jg (x——)(’)_xli—s-q')
M= V=i . +2F =0
= QCX_‘V)()( ‘1”7’}\ 5("/—;_—/2:-{—
LT e S\ - 357 3G ;
| T o Benng 202 X ‘ 135
E 0
K= % i oot
W=

= hy—t) (x— 3G O(x +3v3 )
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Use the given zero to find all the zeros of the function. {(Enter your answers as a comma-separated list. Include the

ot

given Zero in your answer.) ,LQ
CPT  og O o G o
Function Zero 15 -0 s s

gix) = 3x3 + 17x% + 24x — 10 —3+i pe W toe Q:\(Q,V\J“S oF j ) are /wc\ﬂ

X = R R A g

3 -3+ ¢ 3 )+ 2y -10

~a 43 - o

':j 3 s +3¢ -3-¢ O

-9 3¢ 3¢
R B A S
B - o

C343) &Z— (—3+z>\(><~(—3-‘<3\\ Gx=1)
(8+1.)C3te i .

~ -4 +62’q( +?‘ ';Y\:"

[ 14303+ 0)

A6 v -a; +3,L

6 +3(-3

9+

\
. _ L
- 23 -« X3

. T,
or0(3-) =3 HO=10
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oefficients that has the given zeros. (There are many correct answers.)

Find a polynomial function with freal
2,34+ ~ Cm)cﬁw‘—? oaivs Fheoe—

fx) = 82 4920 — 20 )g(x_@m) (x = (3=1))
I

(x-2)(x=3-0) (x=3 41 = x-2) (f‘-?v FCX =3IV HG =30 Ik 3¢ )

G Kty +T 1)
o>t oy

-D)Xbx +00) = y -
-2xt +nx —20

il

\

%o_gyt + R0 —

(O17m ) (Ad&EE) (—

LarTrig9 4.2.080. (2456305) (Add) -- view "
Find a cubic polynomial function £ with real coefficients that has the given complex zeros and x-intercept. (There ars

many correct answers.)

Complex Zeros x-Intercept

¥ =-2% /72 (-1, 0}

fx) = |
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